= AH O
N = 0 &8 AF S & Al A
2011E T Z20A LBHEIH HED ~ HED
S A4
M. HNSHHH (AL
CHR: J123| (e
- _ _ bSRE Y=
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & oK Oﬁﬂo” HusZ
A& 29,259,760 26,744,173 2,515,587
= 1,905,965
z 1,127,000
S 1,000,000
= 63,831
< 2,672,008
= 22,490,956
HM22HAH| (AL D) 35,163 39,612 A4, 449
2 35,163 35,412 A249
23| 35,163 35,412 A249
201 B3| 24,363 23,412 951
01 AFE222|H] 22,101 21,150 951
Oyt 17,691
0.J|SAIRESHI 70,000& *21¢2l 1,470
0.AFRD1D] & SAIZE 15,645,000 15,645
0AIERRER2 48,0002 x 122 576
O=&H| 210,000 x21¢! 4,410
02 332ZH4| 2,262 2,262 0
o222 ¢ HMA 2,142
0.2EQRZ 102,000 = 219! 2,142
OA&EZHI S X 120
0. 25| AS L £g 120,000& 120
202 0OfHl 10,800 12,000 A 1,200
01 2| 10,800 12,000 A1,200
oot (3s&Hhl)
180,0008 * 5&E x 12€ 10,800
HYXX2Y (AL D) 4,200 0 4,200
BAX2Y 4,200 0 4,200
ol 4,200 0 4,200
203 P R2=&H| 4,200 0 4,200
04 EANSISZL=XH] 4,200 0 4,200
O BEA2gge=R 350,000 «12& 4,200
FOFX| JHet 5,929,867 5,553,511 376,356
== 1,480,000
= 4,449 867
=22 Mak2te] 23,530 34,690 A 11,160
=2 ZLTHA2E| 23,530 34,690 A 11,160
201 LetAH| 11,450 20,450 A9,000
01 AFR22|H] 11,450 20,450 29,000
Ogbt424] 9,350




A AL

Za: Forxl e

Sl IR (e @
_ - MG =
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o B2
0.2TRUMASZE4R
374,000 & * 252 9,350
SEET 7,0002 x621 502 2,100
202 01t 0,080 12,240 A2,160
01 =2Uioibl 10,080 12,240 A2, 160
OI2Y L4801t 180,00021 301 * 122 6,480
OJlZ e @+80| 10,0002 301 %122 3,600
203 YREZY| 2,000 2,000 0
03 AlZ =X =AY 2,000 2,000 0
OURZAILEZ 2,000,000 2,000
NE=BIEIINE= 5,906,337 5,518,821 387,516
= 1,480,000
2 4,426,337
N2 THE 242/ At 1,680,000 160,000 1,520,000
= 1,480,000
2 200,000
401 Al&HIL 20| 1,680,000 160,000 1,520,000
= 1,480,000
2 200,000
01 Al&H] 1,680,000 160,000 1,520,000
O 220HSAL EFBA 100,000, 000! 100,000
= 100,000
O 2SO U2X T ZLTM
100,000, 0002 100,000
= 100,000
O NESETE SHEZ ZAb 300,000,008 300,000
= 100,000
2 200,000
O &S USH FHILTA
200,000,00024 200,000
= 200,000
O LAA-MEHZ2 HBE2 HEZA
100,000, 0002 100,000
= 100,000
O +H0IZ USHFZ L FHTYIAL (X2
MEZ) 500,000,000 500,000
= 500,000
O 2QHYE-QF T2 HTIBA
200,000,0002 200,000
= 200,000
O SN SHS C2HITZTA
60,000, 0002 60,000
= 60,000
O ASH S B4 BLTA
120,000,0002 120,000
= 120,000




SN HED
B F T e

el NS 2ALS (etel: =3
- MNuE o
SN H - SR(EH) - NPAMY - BES 0 &4 o il i~ o HZ2
AREFU=SJAY 4,218,290 5,291,711 A 1,073,421
401 Al&HI LS OHYI 4,218,290 5,291,711 A 1,073,421
01 Al&H| 4,205,690 5,278,900 A 1,073,210
O Al 1,020,000
0. 22T 2 X X0 2l 3 AH(L=450m)
350,000,000& 350,000
0.HS MY EZE I E I AHL=200m)
150,000, 000& 150,000
0.2/ 5 0= ot & XL & 3 AH(L=200m)
100,000,000& 100,000
0.2 B =2 L& B AHL=400m)
140,000, 000& 140,000
0. ZHUSHSSHIL 2 EZZE I AHL=100m
) 130,000, 000& 130,000
0. 2clbsHZIHEXd SAH 150,000,000 150,000
OLRI2F0=JAAMNY 3,185,690
0. 485 341,000
o XIEFOFS ot Ui === A HI 3 AH(L=300m)
30,000,000& 30,000
o ¥st=s=2 XL H I AH(L=500m) 60,000,000% 60,000
04E 2B E &3 AHL=400m)
55,000,000& 55,000
ol+===2 X F I3 AH(L=300m) 45,000,000& 45,000
o LH&ID| Ot ot & I & T AH(L=100m)
30,000,000& 30,000
o HXES=2FHIZAHL=150m)
50,000,000& 50,000
o EMItAl == 2 I & S AH(L=400m)
35,000, 000& 35,000
o Rl & B =2 M & 3 AHL=200m)
36,000,000& 36,000
0.xh&d 205,000
OMBRNZAULISHIZAH(EA14])
25,000,000& 25,000
0 LB M=Z E &3 AHL=300m)
30,000,000& 30,000
o oA EHZ AH(L=150m) 30,000,000 30,000
0 RFL=3=Z L E S AHL=200m)
25,000,000& 25,000
o A= ot i === HH| 3 AH(L=80m)
15,000, 000& 15,000
0 AN B =2 LS AHL=200m)
20,000, 000& 20,000
o Aetatgtm =2 I A2 AHL=200m)
20,000,000& 20,000
o Y2EH 2 =Z LA AH(L=300m)
40,000, 000& 40,000
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SN

X‘I iH
l:}‘ O|

2t
D OFOER g
L RIS RE AL

- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] At oH @;& Hl =2
0.282H 182,000
o L= AXIHID| s 2 &2 AHL=300m)
40,000,000 40,000
OXNETNHES2UH L2 F H| 2 AHL=150m)
35,000,000 35,000
o et ZHH =2 FH| 2 AHL=200m)
40,000,000 40,000
o ZEIIESS 2T U2 A H| 2 AH(L=200m)
35,000,000 35,000
o =04 A& & HI2AHL=200m) 32,000,000 32,000
0.M=xH 320,000
0 5= =S| U 2= 2 & H| = AH(L=50m)
10,000, 000 10,000
0 SH3| 25t =42 AH(L=50m)
10,000,000 10,000
o ALY A S s 2 T AZAHL=100m)
25,000,000 25,000
o ALY IIES2 LA Z AHL=150m)
20,000, 000 20,000
o Z=HETHMI & & H| 2 AF(L=40m)
35,000,000 35,000
0 DES =52 T A2 AHL=150m)
20,000,000 20,000
o UHSOIS 3l 2 LA & HHI 2 AHL=100m)
30,000,000 30,000
0 FHS=2FH|(L=150m) 30,000,000 30,000
0 StE=2EEZAHL=150m) 20,000,000 20,000
o 2L LR 2 X 2 H| 2 AHL=200m)
30,000,000 30,000
020242 B 4= 2 AH(L=60m)
15,000, 000 15,000
02U 2 IR AHL=300m)
35,000,000 35,000
02 M AP K| =2 &I A2 AH(L=200m)
25,000,000 25,000
o MIIS2 I X2 AHL=100m) 15,000,000 15,000
0.2MH 276,000
0 BHAatA BB = 2 U HY 4= 2 3 5| 2 AHL=600m)
55,000,000 55,000
0 MOIE 2 E0| 252 E &2 AHL=300m)
40,000,000 40,000
0 SHEHA 2|5 2 F H| 2 AH(L=300m)
50,000,000 50,000
0 KU =2 & H|LOorM Al & & X 2 AH(L=300m)
35,000, 000 35,000
0 22020t HH|Z AHL=400m)
35,000,000 35,000




SN HED
B F T e
SHol: XIS IH L ALES

SNBSS - MEAY - BES ]

22
J2

o Sel=a =2 X &S AH(L=350m)

50,000,000 50,000
o HE OISt 2L =2 F H| Z AHL=200
m) 11,000, 000 11,000
0.4 &0 246,000
o Ch2t0} S0t & & T AF(L=50m)
33,000,000 33,000
0 A E0FS 0t & & T AH(L=80m)
40,000,000 40,000
02X 2 FH| 2 AHL=400m)
20,000,000 20,000
0 SHUHT 2T AZ AHL=200m)
25,000,000 25,000
o NEX20tZ FH| = AH(L=80m)
25,000,000 25,000
0 2 S S=2FH|IZ AHL=300m)
30,000,000 30,000
0 2E OS2 HH| 2 AH(L=400m)
53,000,000 53,000
o S HHA2 FH|IZAHL=50m)
20,000,000 20,000
0.AIEH 320,000
0 At A= 2 T A2 AH(L=300m)
30,000, 000 30,000
oUWHHESE02s 2 E A2 AHL=200m)
20,000, 000 20,000
o HE 0=t & H| = AH(L=80m)
70,000,000 70,000
0 2S0I2 s 2 T A2 AHL=300m)
20,000,000 20,000
0 2S00t A2 AH(L=100m)
20,000, 000 20,000
o LH20tSXt& T M Z AH(L=1,500m)
20,000, 000 20,000
0 Bt¥ =2 T &2 AH(L=450m) 30,000,000 30,000
0 AHX| =2 & 2 AH(L=400m) 30,000,000 30,000
0 BE0I2S 2 X &2 AHL=200m)
20,000, 000 20,000
05502 XY 2 Y| 2 AHL=30m)
20,000,000 20,000
0 At2I s 2 EZ 2 AH(L=300m) 20,000,000 20,000
o LHCHEHD| OFS OF2! I & 2 AH(L=200m)
20,000,000 20,000
0.6t8H 447,000
OHUHASE2 U2 FH| 2 AH(L=250m)
42,000,000 42,000
o L2 = 2 I A2 AH(L=280m)
36,000,000 36,000
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SN AL D
Hy: N N
SHol: K2R ALY

SNBSS - MEAY - BES 0l &k 24

o &1 J1 8 == 2 H Ul 3 AH(L=250m)

30,000,000& 30,000
oNES=ZEASAHL=280m) 31,000,000 31,000
o OtE 8= 2 3 Ul = AH(L=200m)

40,000,000& 40,000
oY== LA I AH(L=350m) 40,000,000& 40,000
0 At 2 LA 3 AH(L=380m) 40,000,000& 40,000
o BH =2 Z &S AH(L=350m) 36,000,000 36,000
0 BFMUTZ M A A S X S AH(L=250m)

20,000,000& 20,000
0 22l E &3 AHL=400m) 42,000,000 42,000
0 EE=Z XS AH(L=350m) 30,000,000 30,000
o SHOtS =2 H I3 AH(L=250m)

10,000, 000& 10,000
o & Ot=2 2t F Hl = AH(L=100m)

20,000,000& 20,000
ot =s=2 TS WEHHI S A

30,000,000 30,000
0.410tH 352,000
o &IOS 6HA L = Z F HI 3 AH(L=300m)

40,000,000 40,000
o O™ Ot S == 2 A HI Ab (L=200m)

35,000, 000& 35,000
o &lDIoH 2N 42 FH| X & I & 3 AH(L=250m)

45,000,000& 45,000
o HAOISoHA L =2 &3 AH(L=300m)

40,000, 000& 40,000
o otE 0SS X 2 =& Bl At (L=300m)

35,000,000 35,000
o #=UHOtS U == 2 " HI 3 AH(L=200m)

33,000, 000& 33,000
o St HH == 2 & Ul AFR (L=400m)

40,000,000& 40,000
o AHH Ot2 == 2 F I A (L=400m)

30,000,000 30,000
o ESEMS==2L == F IS AHL=400m)

44,000, 000& 44,000
o P =0t2t2 | S AHL=200m)

10,000, 000& 10,000
0.4/ &H 198,000
0 =SS I H I AHL=200m)

35,000, 000& 35,000
o+ BMAS=Z L E I AHL=300m)

50,000,000& 50,000
o Y3tot2d JH| S AHL=60m)  20,000,000& 20,000
0 X AS=s2 LS AHL=250m)

25,000,000& 25,000
o UESZ LA I AH(L=300m) 40,000,000 40,000
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Ha: Forx| e

el NS 2ALS (etel: =3
_ _ _ N E
SN CR(EH) - NRAY - BES 0 & 24 o HRE2
o &S =ZE I EZ AHL=60m)
28,000,000 28,000
0.4SH 259,000
oA X ZHHI S AHL=200m)
45,000,000 45,000
o HES 4R =Z FHIZAHL=300m)
40,000, 000& 40,000
o YA OIS =Z X &3 AHL=300m)
40,000,000& 40,000
0 28~YHAM2ts=EEHI S AH(L=300m)
40,000,000& 40,000
o BF AT Z =2 FHI S AHL=100m)
20,000,000 20,000
o =& MH ==&l AHL=300m)
50,000, 000& 50,000
o At A E S22 F B3 AH(L=210m)
24,000,000& 24,000
0.HYUEXN S5 210E X * 189,000& 39,690
03 Al£=R04Hl 12,600 12,811 A211
Loyl 3,500,000,000& * 0.36/100 12,600
KL AL =& 8,047 67,110 A59,063
101 el 24| 1,397 1,485 N 88
04 JIZHMIZ2XEE =+ 1,397 1,485 A 88
ORFA BSH 2Heloy
34,9103 #2021 +50 A x4 1,397
201 et 6,650 5,950 700
01 AtR2teld] 6,650 5,950 700
Oget=gHl 2,450
0.=2&8J|+¢ 2,450
o= Jl 3,500& * 350 OH 1,225
o MOI=2I 3,500 * 35004 1,225
O=gl 4,200
0.BEaNH2Y S
7,000& = 15Q1 = 40 4,200
E2HEAEY 9,403,232 10,787,154 A 1,383,922
= 427,000
< 200,000
= 8,776,232
C2ALAEY 1,054,000 1,500,000 A446,000
= 427,000
= 200,000
= 427,000
WSAMDE2R HEM 236,000 0 236,000
& 118,000
i 118,000




A AL
M T RALAE

&©: S2ALAY (&9 HM
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Of] AF2H @;OH Hl =2
401 Al&HI LS 236,000 0 236,000
2 118,000
= 118,000
01 Al&H] 236,000 0 236,000
O JFLXZ WEAM(NSAIDRSRIA)
36,000,000 236,000
2 118,000
= 118,000
E T2 S ALY 378,000 500,000 A 122,000
2 189,000
= 189,000
401 Al&HI LS| 378,000 500,000 A 122,000
2 189,000
= 189,000
01 Al&H] 375,278 496,400 121,122
ONI2Y T2 T IAR1H 375,278,0002 375,278
2 186,278
= 189,000
03 Al&=2CHHI 2,722 3,600 N878
ON2YE 2T IAL 1A R0
378,000,000 * 0.72/100 2,722
2 2,722
HE0IESPAIMAALY 240,000 700,000 460,000
2 120,000
= 120,000
401 Al&HILLY] 240,000 700,000 460,000
2 120,000
= 120,000
01 Al&H] 238,488 693,700 A455,212
ONEI0IESREIMNS A (2E ZWCCTVA X| At
QI3 A) 238,488,000 238,488
2 120,000
= 118,488
03 A& =Y 1,512 6,300 A4,788
ONEI0IESREIMS A (2 ZWCCTVA X At
QI3 A) RIHH 240,000,000%0.63/100 1,512
ANZTHE A9 ALY 200,000 0 200,000
[= 200,000
401 Al&HIL Y 200,000 0 200,000
< 200,000
01 Al&H] 200,000 0 200,000
O MZBE~Ao2t &2 SIZEHIAL
200,000,000 200,000
[= 200,000
SHEC2HHIAY 2,681,620 2,596,000 85,620




SN AL D
N TRAHAALY

Gl SHECZ2EHIALY (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] At oH @;w Hl =2
SHEZZ2 UMY 2,681,620 2,496,000 185,620
401 Al&HI LS 2,681,620 2,496,000 185,620
01 Al&H] 2,672,000 2,489,449 182,551
OZMA A Z2AH|(L=0.42km) 390,000,000 390,000
US XA ZHHI B AHL=0.118km)
180,000,000 180,000
ORE~LENT ZEIT R D AH(L=1.2km) & Al & H|
24 40,000,000 40,000
OJtE ™ =2 F H| 2 AHL=0.72km)
700,000,000 700,000
O/l O~ 0L 2t & 2 &8 3L & 2 AH(L=0. 36Km)
350,000,000 350,000
o282 H B2 2 AH(L=0.50km)
162,000,000 162,000
On2g 8 =28 T XD AHL=0.63km)
200,000, 0002 200,000
O &&= 28T Z(L=0.20km)
200,000,000 200,000
O SR T2 & LA AHL=1.3km)
200,000,000 200,000
OZ A~ 2T 2T A2 AHE AHH| (L=0.73km)
150,000,000 150,000
OHARSUSINIC-NE2ETH(IMA)
100,000,000 100,000
03 Al&=20HH] 9,620 6,551 3,069
OSEZ RS LA ZA
2,672,000,0002 *0.36/100 9,620
P2EHHIAY 2,748,388 2,350,010 398,378
ZT FHIAY 2,748,388 2,350,010 398,378
401 Al&HIZL 0 2,748,388 2,350,010 398,378
01 Al&H] 2,740,000 2,341,550 398,450
ORE8S LS~ 22tE 2 &I AH(L=1.0km) &l Al
=y [p=3e] 50,000,000 50,000
OSe~HZ2rdZ T 2022 2 AH(L=1.0km)
450,000, 0002 450,000
OME R Z 25T A2 AH(L=1.0km)
290,000, 0002 290,000
Oe|~at2tE 2 8 L & (L=1.8km)
650,000, 0002 650,000
O c 2 &8 I & (1=0.86km) 700,000,000 700,000
OHE~ZS2HEIQ & 2 & 1L & (1L=0.32km)
200,000, 0002 200,000
OB 275 HE~2t B2 =2 X H| Z AH(L=4.0km)
400,000,000 400,000
03 Al&=20HHI 8,388 8,460 AT2




SN ALD
By C2AEAY

& S HUIAY (&9 HM
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
OFEEEIEZA 2,330,000,000& *0.36/100 8,388
WEINAES JIEIE2 A Y 2,861,174 4,281,800 A 1,420,626
C2HHE FUSFAAY 299,456 251,800 47,656
401 AlZHIZ LI 299,456 251,800 47,656
01 Al&HI 295,000 250,000 45,000
OFU=RAY 295,000
0.2 2-2EANEZAMAISE X SAHAEAIL
& XI1L=500m) 35,000,000 35,000
O.ECHOIS X2 UII AL S IHSFZ AH(L=0.42
km ) 40,000,000& 40,000
0.SUSEZSLSHEMEI I3 AHEZA4L=300m)
10,000, 000& 10,000
0. SEHOISUHIIAE X SAH I A A X3 A )
100,000, 000& 100,000
0. 2E~UH=2UC 21 =2 FHI S AH(L=0.2km)
20,000,000 20,000
0. 4F L EZ2FHI S AHL=0.2km)
50,000,000 50,000
0.HE(SEZ2015H) 2 Z T3 AHL=1.0k
m) 40,000,000 40,000
03 A&S20HYI 4,456 1,800 2,656
Ol 665,000,000% *0.67/100 4,456
w2 At 1,314,716 430,000 884,716
401 AlZHIZL LU 1,314,716 430,000 884,716
01 Al&HI 1,310,000 426,400 883,600
OX WM ItE B AH(L=25.6m) 920,000,000 920,000
OnUEH (et ES8D, B, 7391,21)
200,000, 000& 200,000
Ongsizel (Yo SEEH0AH)
40,000,000 40,000
OnzxddddE2A(LsSuA5MA)
150,000, 000& 150,000
03 A&Z20HYI 4,716 3,600 1,116
Ol 1,310,000,000& *0.36/100 4,716
CE2RX 2l A 747,002 200,000 547,002
201 LEH2HH| 2,340 0 2,340
02 3223l 2,340 0 2,340
OCCTVEI 23 15,0002 130 123 2,340
401 Al&HIZL Sl 744,662 200,000 544,662
01 Al&HI 740,000 200,000 540,000
Ozt =& RANE= 200,000,000& 200,000
O2& =& UdEM 100,000,000 100,000
O==2Y =40 & 100,000, 000& 100,000
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SN AL D
N TRAHAALY

Sl DYNES JIBTZAY (e @e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
SEEENTECEP =R 100,000, 0002 100,000
OO0l2I01 5P OHF Al L S|
100,000, 0002 100,000
OZZMHAB X 24 100,000, 0002 100,000
O ZA&AS I 40,000,000% 40,000
03 Al& =0t 4,662 0 4,662
OZZ2MHAB X4 740,000,0002 0.63/100 4,662
2T XY EHZ AR (605 &) 500,000 2,000,000 A1,500,000
401 AlAHIL 2T 500,000 2,000,000 1,500,000
01 Al&H| 496,850 1,994,600 A1,497,750
OZMNAN L 605 6 T 2 H &N AL 496,850
0. AT XIQIE 2 M N2 (L=1.0kn)
496,850,00024 496,850
03 Al& = CHH] 3,150 5,400 £2,250
O A& 3,150
0. 2K LEE0SH (HABNYCZ M
JHZ)AISSTHE 500,000,000 *0.63/100 3,150
SERAMALSY 58,050 59,344 A1,294
CEEAN 58,050 59,344 A1,294
101 Q124H| 7,995 3,960 4,035
04 JARZENSE 4 7,995 3,960 4,035
OSZNSYTARLRY 66,6208 56001522 7,995
201 Y2 | 23,235 32,964 £9,729
01 AtRTelt] 6,530 12,300 A5,770
OYst+2H| 4,080
0.E2422 FHIPY 30,0008 140125 840
0.01 %144 60,0004 *9CH +33] 1,620
00170 27 3,0002 +4007H 1,200
0.0IF IR HFEDTY 30,0002 %145 420
SELL:] 2,450
0.422 BSTATA 7,008 1401252 2,450
02 BZ22H| 6,705 20,664 £3,959
OXtg o et 11,880
0. &GN EAE RB0H
1,650 %40 £ *60CH =33 1,830
OAN&EZHIRX 4,825
0.01F7] 2YTY 7,000 x20S*10CH*23l 2,800
0.0170 REAY
1,620 *1.25 £ *10CH*1002] 2,025
202 OfH| 4,800 4,800 0
01 2L otHl 4,800 4,800 0
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A AL
M T RALAE

CHol CRAMAYSY (crel @
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OJI=2Y@480IHl  100,0008 * 421% 128 4,800
206 MEH 16,300 15,100 1,200
01 W2l 16,300 15,100 1,200
O A O 7 e 2002 + 10,00004 2,000
OSHHE HatZ&Pe 9,508 » 1,000 9,500
OZ38S 7Y (1Z0H 30ke)
12,0008 * 400% 4,800
301 LeHE AR 1,400 0 1,400
10 BAFAHIZ A S 1,400 0 1,400
OE2E4% SZAILTH EHAIZ HID2AS
100,000 142 1,400
405 XtobE S| 4,320 2,520 1,800
01 RHAtU2ZF S 4,320 2,520 1,800
O ZI 7 450,0002 * 6CH 2,700
OJIHE 600,0002 * 1CH 600
OSZoAFE et 6,000 * 7074 420
OLIESETPNE 20,0008 * 30% 600
st& 7,999,994 4,656,009 3,343,985
= 1,898,331
= 700,000
= 500,000
= 787,500
= 4,114,163
X eotE el 2,949,816 1,346,300 1,603,516
= 600,000
= 700,000
= 287,500
= 1,362,316
stEgRxe2Y 256,647 71,300 185,347
101 21244 1,397 1,650 A253
04 JIAMIEXS S 1,397 1,650 1253
OstEtH+Z el 2 34,9109 +40 1,397
201 Yer2ey| 16,650 16,050 600
01 At222/H| 1,050 1,050 0
o3z 1,050
0.5l M Y RE 7,0008 * 39! * 50 1,050
02 BBl 15,600 15,000 600
OZZRILMA 15,600
0.BH+Z&IIQR 2216 1,100,0002 *62 6,600
0.tH+ZEIIANEE 1,500,0002 «6 2 9,000
202 OfHl 3,600 3,600 0
01 2LH0IHl 3,600 3,600 0
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OSHOFHILSEHAX
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ONMZSHIIIALY 2,000,000& *5094 2~ 100,000
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= 87,500
401 AIEHIZ 20 175,000 175,000 0
& 87,500
= 87,500
01 Al&H| 173,740 173,740 0
OX ot A 2AIS (14 MAHI)
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& 86,240
= 87,500
03 AlE=20Hdl 1,260 1,260 0
OXN Lot SR 2el AL 20|
175,000,000 *0.72/100 1,260
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= 700,000
i 466,667
01 Al&H| , 162,466 1,094,960 67,506
OXYotCELAS (Z2H, &Y
1,162,466,000& , 162,466
& 695,799
= 466,667
03 Al =20HY| 4,201 5,040 A839
OXNYStEELAIY 2]
1,166,667,000& = 0.36/100 4,201
= 4,201
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401 AIEHIZ 2] 351,502 0 351,502
01 Al&HI 348,560 0 348,560
O=XA StEFUIAIY (L=213m)
198,560,000& 198,560
O=dlillol =7A 30,000,000 x5 2 150,000
03 A& 0HdI 2,942 0 2,942
O=Ul 408,560,000 +0.72/100 2,942
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= 600,000
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401 AlEHIL 2O 1,000,000 0 1,000,000
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= 200,000
2 200,000
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= 200,000
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03 Al& =0 6.300 0 6,300
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HUBFUN Y XA 203,516 216,266 A12,750
401 AlSHIL 2RI 203,516 216,266 A 12,750
01 A& 203,516 216,266 A 12,750
42U FHX AKX DAL 203,516
0.2r& B, Aloted 203,516,000 203,516
QEAGER 22 3,996,662 2,793,443 1,203,219
= 1,298,331
= 500,000
7 = 2,198,331
AGHEFHIAY [ X] 2,596,662 2,793,443 £196,781
=2 1,298,331
2 1,298,331
401 AlEHIL 2O 2,596,662 2,793,443 196,781
= 1,298,331
= 1,298,331
01 A& 2,587,314 2,783,386 196,072
OABHEFHIAIY (LHAHZIHAE ZHOHE 0| D)
2,587,314,0008 2,587,314
=2 1,298,331
2 1,288,983
03 Al& 20| 9,348 10,057 AT09
OAGHEHHI AL LTI
2,596,662,0002 *0.36/ 100 9,348
ABHE FHI ALY 400,000 0 400,000
401 AlEHIL 2RI 400,000 0 400,000
01 A& 397,480 0 397,480
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401 AlEHIZ S THY] 5,000 5,000 0
01 Al&H 5,000 5,000 0
OSSALOFEXTHDEA) 500,0002 *10H 5,000
THLHORE 2424 242 1,796 5,052 4,156
=2 898
[ 449
2 449
THHORR 2 OF F D OF A & A 1,796 5,052 4,156
=2 898
[ 449
2 449
201 Yer29H| 1,796 5,052 4,156
=2 898
[ 449
2 449
01 AlR 22| 1,796 5,952 4,156
O LHOFHRIF QF DI OHE & 24 U F H| AL
1,796,000 1,796
=2 898
[ 449
2 449
OEIHNSEL 42,586 44,367 1,781
[ 3,240
2 39,346
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[ 3,240
2 7,560
201 Yer2 9| 10,800 18,000 AT7,200
[ 3,240
2 7.560
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A4
Hoh & Mo =7 52 st
LTHCHZE S abatatel (A :H2)
X
SA - EH L ORI(B) - MRAIY - HAS Abod e HlDE2
0. MHHE=EMHSHE  50& +5,00000 x4 1,000
0. THHOI S /A 55,0002 *11IHH*2S 1,210
0.MHSSAAR2E AMRES 1,000,000 1,000
Ozl 2,100
0. Mtatstal 22X =4
7,000 & = 221 x150 2,100
02 3234l 40,513 16,829 23,684
O=232z= £ WA 16,560
0.MHOHM M= SHOIXNAMEZ
42,5003 23| &+ 12& 1,020
0.22RH=F d83ldz
20,0003 63| &+ 12& 1,440
0.ASSHEBANAEAERR
25% 5,000 x12& 1,500
0.MLSTASAAE AFEE L HIRZB(S
HdLUANER) 180,000& x53| &+ 12 10,800
0. M4 SMAMEB2(ALEASD])
25,0003 63| &+ 12& 1,800
OA&EFHI = XU 23,953
0 MoH™MZE X222 479,059,000 *5/100 23,953
Mtats 2=2d sl 14,598 15,818 A1,220
201 LBt | 14,598 15,818 A1,220
02 23234l 14,598 15,818 A 1,220
O332= & AMA 14,598
0.AsSEZEBANE 243 FIIZAZ
70,0003 304 4 2,100
0.NESTALANL 2H2 W50 +42
63,0003 *30H &~ 1,890
0.7HaH& CCTV SldAIEZ
100,000 *8IH 2+ 123 9,600
0.Mai= CCTV EIIAIEZ
10,500& *8I A x12& 1,008
KHATHEE AFE Ol 2 2tel 9,287 9,957 A670
101 14| 4,187 3,957 230
04 JIZtMZ22XSE+ 4,187 3,957 230
OBL2NQ BHEE BE
34,9102 x 112110 3,841
OSxolZAg S8 B854UHEER)
3,841,000 *9/100 346
206 =Yl 5,000 0 5,000
01 M=Hl 5,000 0 5,000
O =8N FAL (Lot L E0HH)
5,000,000& 5,000
301 LEtEAZ 100 1,000 A900
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_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
10 HAIAHI243 100 1,000 A900
OE22AIQ DFEA 5,0002 x50 %43 100
TreiF2ysae) 46,773 33,000 13,773
THEHK 2 DIBHE S AL 34,500 33,000 1,500
401 Al HIZL ST 34,500 33,000 1,500
01 Al&H 34,262 33,000 1,262
OMoiAS XS ZEXIE MA 500,000 +39H 2~ 1,500
OL72 Mol F AL EHIAY 32,762,000& 32,762
03 A& 238 0 238
OLAZ2THHF LA HUIAY SO
33,000,0002 *0.72/100 238
LA LSS TI2E 12,273 0 12,273
101 @124t 873 0 873
04 JIZHMZ2UEE S 873 0 873
O Edti+=8ITZ FA2c U2Y
34,9103 25 873
201 Yer2g| 11,400 0 11,400
02 S22ZH| 11,400 0 11,400
O 3322 % AHA 11,400
0 Sdi+=BTY HI|otd 2l
400,000 68 2,400
0 SNHAEIY XMIAIRE
1,500,000 62 9,000
XHBH Ofl 25 A e 360,831 2,240,831 A 1,880,000
s 200,000
L= 31,957
2 128,874
Ttarg 2=2H g2 151,309 151,309 0
= 27,196
2 124,113
401 A& HI2L 2 151,309 30,000 121,309
= 27,196
2 124,113
01 Al&HI 151,309 30,000 121,309
O AEFHISI 121,309
0.42HH= Ns<E 0. B2AE X2
121,309,000 121,309
L= 18,196
2 103,113
O XS A=A A (ANS) RF AL
30,000,0002! 30,000
= 9,000
2 21,000
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o Mol L W =R s Us
CHl: TH B Ol ALY (el &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O &t 04 il b o HRE2
=428 29 9,522 9,522 0
= 4,761
= 4,761
307 GI2+0I A 9,522 9,522 0
& 4,761
i 4,761
06 283 9,522 9,522 0
OE+3 2E3(ABLHLULIILHE)
9,522,000% 9,522
= 4,761
s 4,761
Mt ol . B2 AAEEX 200,000 900,000 A700,000
= 200,000
401 AlEHI LS THYI 200,000 900,000 AT00,000
s 200,000
01 Al&tt] 198, 740 894,330 695,590
O T ol . Z2AIABATI(109)
198,740,000& 198,740
£ 198,740
03 AIZ2R0i4l 1,260 5,670 A4,410
O T O ARAABAT LOHHI(104)
200,000,000& * 0.63/100 1,260
= 1,260
Meegs(A48n) 110,499 102,599 7,900
LHEHHXI = 110,499 102,599 7,900
WIEETIBIESE 110,499 102,599 7,900
702 JI2FES 110,499 102,599 7,900
01 JI=sd&E=s 110,499 102,599 7,900
OMet2e|dl= 11,049,869,9562 *10/1,000 110,499
WA HA 5,199,259 3,162,434 2,036,825
s 300,000
&2 63,831
= 165,494
= 4,669,934
nEsFNH 323,040 87,385 235,655
= 300,000
= 23,040
DEZNAE 23,040 87,385 64,345
201 Let2d| 11,100 17,700 26,600
01 AtE22/Hl 7,200 6,800 400
SIEER-=1 4,600
0.2HFEIACE NTH 214
150& *7,0000H 1,050
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_ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
0.SEYUAIHZEE TOX SEHIAE 01
10023, 000 0K 300
0.WEEA AHQ E22 oY
1502 %7, 0000H 1,050
0.9 2EEEN0 N L JIdHEAN N
1,200,000 1,200
0.3 .3} =2 2 1
HXAISE 100IH*10,000 1,000
oYtz 800
0.8+XIXt2F Aol 80,0002 x103] 800
oIl =] 400
0.FTHXNENACE 222U (Ex,52)
200,000 x23| 400
o=l 7,000 x40 x50 1,400
02 Z22ZH| 3,900 10,900 A7,000
02222 % HA 3,900
0.RBES &= 3,900
oMAHE 1,5002 * 1003l 150
oUMEHBEE EXA 1,5002 * 1,5000H 2,250
oMEZEXE AMAEXA
1,500 *1,0000H 1,500
202 O4H] 8,640 8,160 480
01 2o 8,640 8,160 480
Ol 2d2 40| 180,000 *401 x12& 8,640
301 LEIBAS 300 450 A 150
12 JIEtB A2 300 450 A 150
OXsSA2ely A&l S84
30,0002 * 109! 300
307 QIZto|A 3,000 2,000 1,000
02 QIZHFAEX 3,000 2,000 1,000
OULEEAN HERIE2HH| 3,000,000& 3,000
LXNHAEZE FHH| 300,000 0 300,000
£ 300,000
401 Al&HI LY 300,000 0 300,000
£ 300,000
01 Al&H] 300,000 0 300,000
O XHA H2X FHUIAF(104)
298,110,000 298, 110
£ 298, 110
O FXHA HI2Z HUIALY 20HHI(109)
300,000,000 %0.63/100 1,890
£ 1,890
WEQHMS P ALY 237,624 253,620 A 15,996
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Ha: DEHF W
Sl MEOIHEE ALY (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
mEINFEERE] 237,624 253,620 A 15,996
201 Y2 Y| 27,624 33,120 A5,496
01 AFR 22/t 3,000 3,000 0
L1 3,000
0.HEAME FIQEELL2E
3,000,0002! *13] 3,000
02 22| 24,624 30, 120 A5, 496
O23Ze2 % HA 24,624
0.45S(FRE) ®IIRD
16,0008 * 12204 A *128 23,424
0.MEAHANTE MRS
100, 0002 * 122 1,200
401 AIEHIL L] 210,000 200,500 9,500
01 Al 210,000 200,500 9,500
OHASAMIIA M| 8,000, 0002 +8J} £ 64,000
OHAZHIIA B4 14,000, 0002 14,000
ORI T 4 1,500, 0002 *8km 12,000
ORNSAFALE SRR 22 20,000,000 20,000
OREHFAIL XA 80,000
0.22S & 7,000, 0002 *30 £ 21,000
0.MOIZIZHS &x| 3,000, 0002 *304 £ 9,000
0.RESQMEXE MX 200,000 1000 A 20,000
0.82)| &% 3,000,0002! *107H 2 30,000
OHAFBAAS(ME ME)24 U RN 22
20,000,000 20,000
SLANMF X 4,638,595 2,821,429 1,817,166
& 63,831
= 165,494
2 4,409,270
WHUXHMHNEN G ERERED 3,900,000 2,325,000 1,575,000
307 212H0I 3,900,000 2,325,000 1,575,000
09 24YNRBES 3,900,000 2,325,000 1,575,000
OUUKARHBENTHERSEES
3,900,000, 0002 3,900,000
SIed EAPAB[ERA] 447,073 182,429 264,644
= 153,494
2 293,579
307 212+0| 447,073 182,429 264,644
= 153,494
2 293,579
09 24YNRBES 447,073 182,429 264,644
L ESN AN 447,073,0002 447,073
= 153,494
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B A N ZH . ClO (5 HIE A HAS2 HEE Hl D=2+
| = 293,579
SHEHACSHH Y 75,000 110,000 235,000
405 XHAHE SHI 75,000 110,000 235,000
01 MRS ZF S| 75,000 110,000 35,000
O3HHACS T2 75,000,0002 75,000
AOFHA THE I 10,000 10,000 0
307 2I2t0l& 10,000 10,000 0
09 2+gH2x3 10,000 10,000 0
OFF~AHE2E AOFHATHEXIR 10,000,000 10,000
HASSALTHEX [ 190,603 194,000 ~3,397
= 63,831
2 126,772
307 22t0l& 190,603 194,000 ~3,397
= 63.831
2 126,772
09 2+LHBXS3 190,603 194,000 ~3,397
ONUSOHEHAAN WIS
190,603,000 190,603
2 63,831
2 126,772
HI =& DS XA 15,919 0 15,919
= 12,000
2 3,919
101 @121H] 15,919 0 15,919
= 12,000
2 3.919
04 JIZM22USEL 15,919 0 15,919
O#X-d DEBEZA
34,910%62 *23] 15,919
= 12,000
2 3.919
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